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PA3BUTHUE TBOPYECKNX CIIOCOBHOCTEM JETEN
ITPU PEHIEHUU 3AHUMATEJIBHBIX MATEMATHYECKHUX 3AJAY
HA AHI'JIMMCKOM SI3BIKE

B.JL. Junbman, M.C. Xeouwieeckasn

PaccmaTrpuBaeTcsi pa3BUTHE TBOPUYECKHX CIIOCOOHOCTEM jerei
MJIQJIIEr0 U CPEAHETO UIKOJIBHOIO BO3PAacTa Ha OCHOBE PEILIEHUS MU
3aHUMATEIbHBIX MaTeMAaTHYECKUX M JIOTUYECKUX 3a/lad Ha aHIJIUi-
ckoM s3bike. [Ipenmnonaraercs, 4To 3TU 3aHATUSA MPOBOISATCA HA BHE-
KJIACCHBIX 3aHATHSX U KPYXKKax MO M3YUYEHUIO aHTJIMICKOTO S3bIKA.
OcCHOBOM TakuxX 3aHATHH SIBISETCS MOATOTOBJICHHBIN aBTOpaMu cOOP-
HUK 3aHUMAaTENIbHbIX MaT€MAaTHYECKUX 3aJlay Ha aHTJIMICKOM S3bIKE
(MHOTHE 3amauM C penieHusMU). HeoOxoammas JieKkcuKka mpecTaBiie-
Ha B CHEIUAIBHO MOTOTOBIEHHOM aHIJIO-PYCCKOM CJIOBape.

KitoueBbie ciioBa: TBOpUECKHE CIIOCOOHOCTH JEeTell, 3aHUMaTEb-
HbIE JIOTHYECKUE U MAaTEMaTUYECKUE 3a/1aul, JIOTUYECKOE MBIIIJIEHUE,
M3Y4YEeHHE MAaTEMAaTUKU Ha NHOCTPAHHOM SI3bIKE

BBenenne. OO1mMM MeCTOM SIBISIETCSI YTBEPKACHHUE, YTO BOCIIUTAHUE XOPO-
110 00pa30BaHHOT0, CIOCOOHOIO K TBOPYECKOW JEATEIbHOCTH YeJIOBEKa ClIeay-
€T HAaYMHATh C paHHero AeTcTBa. Hukto He Oynmer oTpuIaTh, 4TO 3HAHHE MHO-
CTPaHHBIX S3BIKOB, IPEKJE BCETO, aHTIIUMCKOTO KakK S3bIKa MEXIYHAPOIHOTO
o01IeHNsI, HEOOXOJUMO COBPEMEHHOMY YEJIOBEKY M B MPOPECCHOHAIBHON Aes-
TEJILHOCTH, M, BO BCE OOJBIICH CTENEHU, B MOBCEAHEBHOW. 3aHATHUS SI3bIKOM
Pa3BUBAIOT MAMSTh, PACIIUPSIIOT KPYro30p peOeHKa, MprUoOIaloT €ro K MUPOBOM
KyapType. Ho m1st pasBuTHs CaMOCTOSITEIBHOIO, TBOPYECKOTO THUIA MBIIIJIEHUS
TpedyeTcst YTO-TO Apyroe. PeOEHOK ¢ paHHUX WIKOJBHBIX JIET TOJKEH B TOM WM
MHOM BHJIE€ 3aHUMATBHCA YMCTBEHHOW TBOPYECKOU AEATEIIBHOCTHIO. 3ajaya pas-
BUTHS OMbITA TAKON JEATEIBHOCTH Y IIKOJbHUKA SIBJISIETCS BO BCEM MUPE OJIHOU
13 HanboJiee aKTyalIbHBIX 3a7a4 00pa30BaHUs, XOTh U OTHOCUTCS K YUCITY «BEY-
HBIX» MpoOsieM. B HacTosiee Bpemsi B Hallel CTpaHe €€ 3HAYMMOCTb TOJIBKO
yCyryOJsieTcss TOBCEMECTHBIM BHEJIPEHUEM TECTOBBIX CHCTEM KOHTPOJISI 3HAHHMA
u EI'D, HUKaKk He CTUMYJIHPYIOMIHUX TBOPYECKOW AKTUBHOCTH YYalUXCS U HE
CIIOCOOCTBYIOITUX BOCIIUTAHUIO COBPEMEHHON aKTUBHOW TBOPYECKU MBICIISIIICH
WHULIMATUBHOW JTUYHOCTH.

[IpuBneuenne nerer MiaaguIero U CPEIHETrO MKOJIBHOTO BO3pacTa K TBOpUe-
CKOW WHTEJUICKTYaJIbHON JEesATEIbHOCTH HATAJIKMBACTCS Ha paj MpoOjeM He
TOJIBKO METOJIWYECKOTO M OPTaHU3ALMOHHOIO XapakTepa, HO M TPYAHOCTEW,
CBSI3aHHBIX C BO3PACTHBIMU (PU3UYECKUMHU, IICUXOJOTUUECKUMU U UHTEIIEKTY-
aJIbHBIMH OCOOCHHOCTSIMHU peOeHka [1-4]. BaxxHol u TpyaHOH 3amaueii rmeaaro-
ra, paborariero ¢ peoeHKkoM 7—12 JeT sBisSeTCs BOCHUTAHUE Y MOCIEIHEro
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YCTOI‘/’I‘II/IBOI‘O HHTCpPCCa K YMCTBCHHOﬁ JACATCIBHOCTH. ABTOpLI cTatbu CJACJIaJIN
IIOIIBITKY COCINHUTDL O6y‘ICHI/I€ ,Z[GTCP'I ABYM JOBOJIbHO HCIIOXOXXHUM IUCIUILIN-
HaM — aHFHHﬁCKOMy A3BIKY U MATEMATHUKC — OOAHOBPCMCHHO, B OJJHOM 06yqa}0-

IeM Kypce.

B oony meneey enpsiuv e moicHo
Kons u mpenemnyio nano.
M.B. Jlomonocos

Pemienne 3aHMMAaTeJbHBIX 32424 KaK CPeACTBO Pa3BUTHSA JI0003HA-
TeJIbHOCTH M TBOPYECKHX cHocoOHocTeill aereil. Dh(EKTUBHBIM CpPEICTBOM
TPEHUPOBKM B TBOPYECKOM pabOTE IIKOJIBHUKOB SIBJISETCS CUCTEMATHYECKOE
pelIeHre MU HECTAHIAPTHBIX M 3aHUMATENIbHBIX 33]1a4 110 MaTeMaTUKe U, Mpe-
JKJI€ BCEro, 3a/Ja4 JIOTMYECKOro nukia [3, 5]. OT1o pa3BuBaeT y ydamuxcs Io-
TPEOHOCTh B TBOPYECKOM MBIIUICHUH, MOBBIIIAET UX KYJIbTYpPY, YCHIIMBAET UX
VMHULMATUBHOCTh U CAMOCTOSTEIBHOCTh. Takue 3a1adynM MOXKHO pelaTh HAa Ma-
TEMATUYECKUX KPY)KKaX, UCIOJIb30BaTh UX B PA3JIUYHBIX KOHKYypcax, Onummnua-
nax, BUKTopuHax. OcobeHHO 3(p()EKTUBHO MX HCIIOJIb30BAHHUE B JIETHUX Mare-
MaTHYECKUX Jarepsax [6], e coueTaHne 3aHUMATENIBHOTO OTAbIXa U U3YUYCHUE
npeaMeTa He OTBJIEKAeTCsl HEOOXOJUMOCTBIO TOCeUaTh APYrue 3aHsATHS U Je-
JaTh JOMAIIHUE 3aJaHUsl.

ABTOpaMHU cJieJaHa TOMbITKA MOATOTOBUTH HEOOJBIION COOPHUK 3aHHUMAa-
TEJIbHBIX W OJIMMIMAJHBIX 337a4 JIOTHYECKOTO XapaKTepa Ha aHTJIMACKOM SI3bI-
ke. OH npenHa3sHayeH I WIKOJBHUKOB 3—0 KJIACCOB, U3YyYAKOLIMX BHEYPOYHO
AHTJIMHACKUMN sI3bIK. ETO 11eb:

1) 1006aBUTH HOBBIC CTUMYJIBI, IIOBBICUTh HHTEPEC K M3YYCHUIO S3bIKA, UMU-
TUPYs €r0 UCIOJIb30BaHUE B MPEAMETHONW 00JIACTU U BhIpadaThIBasi MEpBbIC Ha-
BBIKH «JIyMaHbs» Ha MHOCTPAHHOM $I3bIKE;

2) B030yauTh (pa3BUTh, MOBBICHTH) MHTEPEC K MaTeMaTHKEe KaK K 3aHHUMa-
TEJIbHOM, BBI3BIBAIOLIEH )KUBOM UHTEPEC YMCTBEHHOU AECATEIBHOCTH.

Pa3ymeercs, OH MOKET UCIIOJIb30BATHCS IIKOJIBHUKAMU APYTUX Napaylieneu
U BOOOIIE JIOOBIMU YMTATEISIMH (JIy4llle CKa3aTh — «pelaTesisiMu»), UHTEpe-
CYIOIIMMUCS 3aHUMATEIbHON YMCTBEHHOM NESITEIIBHOCTBIO M 3a0/JHO JKEJIaro-
IIMX «OCBEXHUTH» CBOU 3HAHMSI AHTJIMHCKOIO Pa3rOBOPHOTO S3bIKA.

Coopuuk comepxxut okoiyio 50 3amad, chopMyTUPOBAHHBIX HA AHTJIMHACKOM
s3bike. [lopsiaka monoBUHBI 33/1a4 CHAOKEHbI PEIICHUSIMHU, 3alHUCAaHHBIMU TOXKE
Ha aHTJIMHACKOM si3bIKe. {151 ymoOcTBa paboThl CO COOPHUKOM, OCOOEHHO POaU-
TeIsIM, K COOpPHHMKY MpHiararTcs: (popMyJIUpOBKH 3a/lad Ha PYCCKOM S3bIKE
(MOJIOBUHA C PEIICHUSMM); a TAKXKE aHTJIO-PYCCKHM CIIOBaph HUCIOJIb3yeMOU
JIEKCUKHU. 3aMETUM, YTO JIuTepaTypHoe odopmiieHHe OOJIBIIMHCTBA 3a/1a4y 3aHU-
MaTeJIbHOE, B PsI/Ie CIy4aeB CKa304YHOE, MPUOJIMKEHHOE K JIETCKOW pedur. ITo
MO3BOJIIET Y4YaIlIUMCSl C MHTEPECOM, HE3aMETHO AJisi ce0sl paclupuTh 00BEM
CBOEH Pa3rOBOPHOM JIEKCHUKHU.
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COopHuK 32124 HA aAHTJIMHCKOM si3bike. [IpuBenem mpuMepsl 3aiad U3
cOOpHHUKA.

Old Russian task. Someone learned that a cow at a fair is four times more
expensive than a dog and four times less expensive than a horse. He took
200 rubles to the fair and with all this money he bought a dog, two cows and a
horse. How much?

Solution: The smallest price — the price of the dog — we take for 1 part. Then
the price of a cow is 4 parts, the price of a horse is 16 parts, and the total pur-
chase price is 1 + 8 + 16 = 25 parts. And since 200 rubles are equal to 25 parts,
all prices are easily determined.

Answer: The dog cost 8 rubles, the cow — 32 rubles, the horse — 128 rubles.

Chains. Fedor has 5 chains of paper with 3 links in each chain. He wants to
connect them into one chain of 15 links. To do this, he will have to break some
links and then glue them again. What is the least number of links need Fedor to
break to solve the problem?

Solution: It is necessary to break the links of one chain and connect the
4 remaining chains with them. Therefore, to get a chain of 15 links, Fedor needs
to break 3 links.

The magic of numbers. Take any three-digit number and pin to it the same
number. Get a six-digit number. Divide it by 7. What happens, divide by 11.
What happens, divide by 13. You get that three-digit number with which you
started. Why?

Solution: Assigning the same number to a three-digit number, we multiplied
it by 1001. And by dividing the resulting number, first by 7, then by 11, and then
by 13, we again divided it by 1001. Note that this task can be easily turned into a
game, when one student writes a three-digit number on a piece of paper and
transfers it to the second, the second appends the number to the six-digit number
and transfers it to the third, the third divides the number into 7, etc., and finally,
the result returns to the first.

Cats and mice. Six cats catch six mice in six minutes. How many cats will it
take to catch a hundred mice in a hundred minutes?

The usual answer “100 cats™ is incorrect. Six cats, referred to in the problem,
for 6 minutes catches 6 mice, that is, for each minute she catches one mouse.

Answer: 6 cats.

A long way. Three people want to get from town A to village B in the short-
est possible time. The distance from A to B is 30 km. They have 2 bikes. On a
bicycle together or three you cannot go. Their speed on a bicycle is 15 km / h,
and 5 km/ h on foot. What time can they get to B?

Solution: It is important to equally distribute the time of movement on two
bicycles between three people, so that no one lags behind the rest. This can be
achieved if the first and second will sit on bicycles, and the third will go on foot.
After traveling 1/3 of the way, the first one should get off the bike, leave it on
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the road and continue on foot. The second one must drive 2/3 of the way, get off
the bike, leave it on the road and continue on foot. The third, having reached the
bike left by the first one, sits on it and goes to point B. The first, after passing
1/3 of the way on foot, reaches the bike left by the second, sits on it and will
reach the city B. As a result, each will walk 10 km, and 20 km will pass by bicy-
cle.

Answer: For 3 hours and 20 minutes.

Alloy. 1 kg of an alloy of tin and nickel contains 40% of tin. How much tin
should be added to this alloy to make up 50% of the alloy?

Solution: First you need to determine how much is now in an alloy of nickel
and how much tin. Since 100% is 1 kg, then tin in the alloy is 400 g, and nickel
is 600 g. To make tin half of the alloy, you need to bring it to 600 g.

Answer: 200 g.

Mushrooms. 1 kg of mushrooms have a humidity of 99%. They dried it to
98% humidity. How much do these mushrooms now weigh?

Solution: It is difficult to predict the answer to this problem. A number close
to 1 kg suggests itself, but it is not. During drying, water evaporates, and the dry
matter, which was and remains 10 g, from 1% turned into 2%. So the mass of
mushrooms has halved.

Answer: 500 g.

Mystery of Time. | stopped the wall clock, but | have no other watches.
| went to a friend whose clock was going right, played chess with him, and when
I go home, I set my clock correctly. How did | manage to do this?

Solution: | started my watch and remembered how much time they show.
Having come to a friend and going away from him, | looked at his watch both
times, and therefore | knew how long | stayed with him and what time he left
him. When | got home, | determined from my watch how much time | was ab-
sent, and subtracting from this time the time that | stayed with a friend, | deter-
mined how much time | spent on the way to him and from him. Dividing this
time in half and adding it to the last reading of a friend’s watch, I determined the
time of arrival at my home. For example, even if | set my watch to 10.00, having
come to a friend, | saw that on his clock 11.00, leaving him, | saw 12.00 on his
clock, and when | came home, | saw that my clock was 11.30. Then | determine
that | was away for 1.5 hours, of which exactly one hour was with a friend, it
means that | spent half an hour on the road at both ends, and 15 minutes on the
way home from a friend. | put my watch at 12.15.

Dead water. In the magical forest were three sources of dead water — the
first, second and third. Anyone who drank from such a source died that day. The
only antidote was water from a source with a large number: if, for example, to
drink water from a second source and immediately drink water from a third one,
nothing will happen. The third source, the antidote to which was not, was in the
castle of Koshchei the Immortal, and no one, except Koshchei, had access to it.
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Ivan the fool, long angry at Koshchei, suggested a duel to Koshchei — everyone
comes with a glass of water, the duelists exchange glasses and drink. Koschey,
confident of victory, immediately agreed. The duel took place and, to the
amazement of the forest dwellers, K. The immortal died ingloriously, and noth-
ing happened to Ivan. What was made by Vanya not to die most and to ruin
Koshchey?

Solution: Ivan drank dead water in front of a duel from the first source and
brought a glass of plain water to a duel.

Pets. One old woman lived pets. All animals, except two, were dogs. All an-
imals, except two, — cats, and all, except two, — parrots. The remaining animals
were cockroaches. How many animals did the old woman live? Find all the solu-
tions.

Solution: Suppose there were only two animals. Since all but two were dogs,
there were no dogs at all. Similarly, there were no cats and parrots. So both ani-
mals were cockroaches. Let the animals were at least three. Then there was not
less than one dog, one cat and one parrot. There could not be 2 or more dogs,
since then everyone else had to be cats and parrots at the same time, so the dog
was one. Similarly, there was one cat and one parrot.

How quickly children grow. Lena once said: “The day before yesterday |
was nine years old, and next year | will be 12 years old”. What date did Lena
say these words (name the month and date)? When's her birthday?

Solution: Lena said this on January 1st. Lena's birthday is on December 31st.

Chicks. At Peter the First had seven children — all of cocks, no chicken.
Among the descendants of Peter the First, some cocks had only chickens as
children (how many such cocks and how many each children are unknown), and
some only had cocks, and there were also seven of them each, and there were
142 such descendants. How many total cocks were in the progeny of Peter the
First?

Solution: 7 + 142 * 7 = 1001. The first 7 are the children of Peter the Great
himself, and 142 * 7 is the number of children of his descendants.

The descendants of Gvidon. Prince Gvidon had five children. Each of the
descendants of the prince, or did not have children or had three sons. How many
were childless descendants — is unknown, but those who have had children, there
were 40 people. How many descendants did Gvidon have?

Solution: Each descendant was someone's child. There were 5 + 40 * 2 = 85
children in total (children of Guidon himself and two children from forty de-
scendants). Consequently, there were 85 total descendants.

The length of the train. Two trains of the same length go towards each oth-
er. The speed of the first train is 36 km / h, the speed of the second is 45 km / h.
A passenger sitting in the second train noticed that the first train went past him
for 6 seconds. What is the length of each train?
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Solution: If the first train stood on the spot, then the passenger of the second
train would go past it at a speed of 45 km / h. And since the first train was trav-
eling at a speed of 36 km / h, the passenger of the second train was driving past
it at a speed of 36 + 45 =81 (km/ h). Consequently, he traveled the length of the
train at a speed of 81 km / h in 6 seconds, that is, in 1/600 hours. Multiplying
this time by speed, we get the answer.

3akiarodyenue. OMbIT, TOKa HEOOIBIION, PAOOTHI CO MIKOJIbHUKAMH TI0 STOMY
COOpHHKY OJIHOTO W3 aBTOPOB CTAThH MOKa3ajl 3HAUUTEIbHBIN HHTEpPEC yUyallux-
Csl U MX POJUTENEH K TakoW (popMe M3YUEeHHs aHTIUHCKOTO A3bIKa U MaTeMaTH-
ku. [IkoNbHUK, HAMIEANNN pelieHue 3aga4uu, OOBIYHO C HETEPIICHUEM >KEJlaeT
ero n3noxnTh. [loneITkKN pacCKka3aTtb pCIICHUC HA AHTJINIICKOM SI3BIKE IIPpOBOIIH-
PYIOT y4almiCrocCda Ha pa3rOBOPLI HaA AHTJIUHCKOM A3BIKC, IIPUYCM HC Ha OTBJIC-
YCHHBIC TCMbI, HCPCAKO HCUHTCPCCHBIC I I[GTCI?I, d Ha HCIIOCPCACTBCHHO AKTY-
AJIbHBIC B JTAHHYIO MUHYTY.
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